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addazy1
ﬁﬁ. o1 - I/PART - |
pEVELOPMENT AND TEACHING METHOD
CHILD a7 1.  Kohler is associated with which of the
; mﬁqﬁﬁ?ﬂﬁmﬁ@ﬁ following ?
' ) Nﬁama:ﬁmﬁl-/k (1) Theory of Motivation
@) o & fa ~ (2) Theory of Learning
(3) s ¥ R o (3) Theory of Personality
(@) frra ¥ R (4) Theory of Development
2. degT ¥ SFER wgfeal e gt 2. According to McDougall the number of
’ & instincts are
(1) (1) 15
8 16 (2) 10 ‘
(3) 12 - (3) 12
14 (4) 14
3. mmmmmﬁﬂﬁﬁ‘ 3. Brainstorming Model of Teaching is
ﬁmﬁgﬁmm% 7 - used to improve which of the following ?
(1) == (1) Understanding
(2) T THYH (2) Problem solving
3 m (3) Creativity
(4) sT|Em

(4) Application

4. ‘Dog’ i :
1) = , ex;iri\:fnisn:};e exXperimentee in whose
(2) FrEeR (1) Skinner
(3) aider= (2) Kohler
(4) YEEE / (3) Thorndike
(4) Pavlov
5. tifasa
ﬁg S ?’ maﬂlmﬁqﬁm 5. Originality, flexibility and flow are the
(1) afy components of which of the following ?
(2) oy (1) Intelligence
(3) =fFre (2) Motivation
(4) GoFTeraRa . o (3) Personality
6. Tt B (4) Creativity
(1) @y 2) Fry 6. Combat is
() e ) (1) Instinct (2) Thinking
Paper - | /C (3) Imagination (4) Emotion




STTRI o AR TRt sl T i et
e B

(1) 3N dcd

(2) SgTd A

(3) TR a

(4) - GO ARSI A

5. i o o e v e e
FHA-aTR ? c
(1) wfe foera & firan <6t fam
12 Waﬁtéﬁﬂﬁ%ﬁsﬁmﬁwam
- - :
(@) e T 1 e
(4) st foemma 1 e

9. Frafafaa i sH-u e # e s ?
(1) g e e
T Wi o fagr
(3) ey & e
(4) T forema =1 faara

10. ‘a3 o @eq 769 fafward 3R AdH
TR TR Bl & A8 o Jfear g
(1) =
3R BIvS
(3) mfey
;;) AT

11. d 3739E & YR TGS 3 379 Fa FHE

FATdT 3
(1) e

(3) =i
—

12, a5 o R s
forem o 7

2) fa=m
(4) Tegaftemor

1) e @) e
B e () e
Paper-1/C ;

10.

11,

12,

s affectin ;
gfa g:‘loi;—dren are B HoctEl development
(1) Economic elements
(2) Hereditary elements
(3) Physical elements

4) Social environmental elementg

Which of the following is a primary lay,
of Physical Development ?

(1) Law of difference from mental
development

Law of relation from imagination
and emotional development

(3) Law of rapid growth

(4) Law of irregular development

(2)

Which of the following is not the theory

of development ?
(1) Theory of Conditioned Reflex

(2) Theory of Uniform Pattern
(3) Theory of Interrelation
(4) Theory of Continuous Growth

“Development results in new
characteristics and new abilities” this

statement is given by

(1) Gessell
(2) Douglas and Holland
(3) Meredith
(4) Hurlock

Giﬁng meaning to.sensation on the
basis of past experience is called

(1) Imagination (2) Thinking
(3) Memory (4) Perception

Who has propounded the law of trial
and error of learning ?

(1) Kohler (2) Gestalt
(3) Thorndike (4) Pavlov

[ P.T.O.
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13. ot gy o e 1 g wfod WA
(1) 70-79
(2) 110-114

3) 90-109 -~
(4) 80-89

19, F= 3 3 o ot el g 3 siwm &

Sioares & ?

(1) =

()

B) 7

(4) uHe®

et e s s v e foen
(1) ==

2) v

(3) ¥

(4) uHers -

ﬁﬁzﬁnﬁ%am%ﬁ@m%?
(1) egor fmfoy

(2) weror sty

(3) wieror wymey

(4) Theqor Jerq

15.

16.

17. mﬁﬁmmﬁnﬁmﬁﬁmw?

(1) gw

(2) ferm
(3) =rEer
4) = -

18. . 9. . arg, qﬁmmmﬁmﬁm
A9 4 R smar g 7

(1) =AafFae
(2) GmTeHR
(3) Ty

- (4) g

Paper-1/C

13.

14,

15,

16.

17.

18.

(1) Test const

BE

19,

L.Q. Level of average intelligence
children will be between

(1) 70-79

(2) 110-114

(3) 90-109

(4) 80-89

Who among the following has Proposed
Fluid Mosaic Model of Intelligence ?
(1) Cattell
(2) Skinner
(38) Vernon
(4) Thorndike

20.

Operant Conditionin
Propounded by

(1) Hul

(2) Skinner

(3) Hegarty

(4) Thorndike

g Theory is
21,

Blue print is an i

mportant component
of which of the following ?

ruction

22.
(2) Test scoring

(3) Test administration
(4) Test validation

Pre-operational stage is the stage of
development Proposed by

(1) Bruner
(2) Skinner
(3) Kohler
(4) Piaget

M.P.P.L is a test used to measure which
of the following ?

(1) Persohality
(2) Creativity
(3) Achievement

(4) Intelligence

Pap
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1aa®m@ﬁﬁ®mﬁWwme

20. R CCINEIRLLR
1) 127F 18T TH
(2) 1534 TH
(3) SHR 6T TH
(4)/331@23&?@

21. e A A & 7% g = 2
e
(1) R Lok e ica B
2) T 1 AT SRS §
(@) S T @ A
(4) & A TR 8

22. ﬁmﬁ%mﬁ‘WM’uﬁqﬁa%m?
(1) S Sl
(2) <@~
(3) Fretdies -
(4) T

03, Refifad § ofdl & SR s o o=
TR o ==l fera R !
(1) SR
(2) V=K
@) FHe—"
(4) 9"

24. ‘GATCHeRAT Hifersh GROITAT Y i
i e wfshT | 98 e R

(1) et T

(2) MTEHR A .

(3) e *

(4) ?ﬁiﬁw/
Paper-1/C

190

20.

21.

22.

23.

24.

D |

which of the following is most easentia]
for learning ?

(1) Motivation

(2) Guidance

(3) Maturation

(4) Interest

The period of infancyhood is
(1) From 12 years to 18 years

(2) Upto 15 years
(3) From birth to 6 years
(4) From birth to 2 years

Through his experiment Kohler wanted

to prove that learning is .

(1) The perception of whole situation

(2) Human learning is purposeful

(3) Betterin animals than human
beings

(4) An independent activity

Who propounded Five Step System’ of
lesson planning ? _

(1) John Dewey

(2) Bloom

(3) Kilpatrick

(4) Herbart

Who described different types of
personality based on Glands from the
following ?

(1) Kreshmer

(2) Sprangar

(3) Cannon

(4) Jung

‘Creativity is a mental process to
express the original outcomes’ — the
statement is of

(1) Cole and Bruce

(2) Crow and Crow

(3) Dehan

(4) Drevahal

[ P.T.O.
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;e &
(3) e T ST
(4)  whtqaaan % HEEed .
26. Wwﬁﬁﬁ_ﬁﬁﬁ“a/
fiea forT ® |
(1) I (2) ,
(3) uHswF yﬁ’ﬁ’ﬂ
27. T <t g o e G g S
R A ¥ 9 o
(1) s
(2) I
B) ==
@) Sam
28 %ﬁﬁ“ﬁ%wﬂmﬁwmm%ﬁwﬁ
g ?
(1) Fregm
2) Fead
B) g
4) mem
0 LA omings
“ﬁmemmﬁgﬁﬁmer
() o it
(3) WW%’Q .
P T AR B
9 ﬁ%‘ﬁmﬁm’wﬂﬁm%%
T ?
(1) aifers oty
(3) @)
Paper - 1/c

. According to ! :
* development 11 chil

26.

27.

28.

29,

30.

(1)

-
o B.F. Skinner langUag ﬁ

0
dren takes Plag,
As an outcome of inborn

(2) Rip:r? 1(1311?'Zcom«=3 of training in Sﬁ:ﬂ
mar .
. %gar;n outcome of imitation e
reinforcement .

e of maturity A
(4) As an outcom i
Instincts are classified in fourteen 3
types by ‘
(1) Drever (2) Woodworth q<

(3) Thorndike

"
Ei

-(4) McDougall

‘Attention is the concentration ¢ ¢
consciousness upon one object rathe

than upon another’ this statement j
related to ¢

(1) Dumvile .
(2) McDougall

(3) Munn

(4) Ross

Whose name js gg
of the Eugenics: f

(1) Crow and Crow

Sociated with ‘Father
rom the following ?

(2) Woodworth
(3) Ross
(4) Galton

Dr. s. Jalotg
children of 12 to 1

Who
T intelli o
(1) Thorn gence

(3) Vernon

my Alfy Test :
€nera) Mentg) Ability Tegt

propounded the

heory’ of ‘Two Factor

dike (2) Stern

(4) Spearman
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9T - II/PART - II
et - I : =<t / Language - I : HINDI
34. HETHI ¥ A 99 o W R 7 w9y

T d. 31 - 35 : 3 T i Y g Ffeiad
Wﬁ%ﬁmﬁq: '
s T SRS A 9] | 7T A el A o € A A |
o Weehd €1 3 T UE A | A RS S AT 3B
S ey Fema R, R A ok o T T, i 3T W
3 ST I A B | YT % YRS 9 | YT ARt
oy | T 0 W 1 g Sl 3
o F T F o | 35 741 97 3 3 g
* S 1 35 T4 & BO F¥ Y 311 7 o1 I TG T, 45
i e 3 Pt o €1 R | ST 31T B WIS e 3R
o e e 8 | oy R & e e o
frad’” =i’ ¥ Fraget | gred) w0 @aft g A
T 3 TR A T T Seh RSl 3 3k et bt R
el v foran oft o & v I A s ot @
gl SftCafior i aett S deh U HT | e HETei
Y o famor & foIq o el a1 e |
femaft 3t 38T o7 aytar T fora, Aredt i s foram,
o & e P | AT G G T e
% g At o6 e wawt o ford o v, s o <t
st afiemom o g @ | FAT ¥ S ferTer
T THE WA I S FHHET THAT Fih e Tl &
R, o org, fy end A 3 v e
Wﬁﬁ@ﬁwﬁml

31. HATHE UK H HH-T VAT & 7 o "
(1) TFFs. (2) F3
(3) 3, 4) s

32. ugTER @t s ST FHat gt ot ?
(1) wEamgd - (2) qrE

raeyT fohaH oft ?
(1) 129 (2) 80
(3) 45T (4) 357

35. “‘gfaed’ wwmerd @7
(1) S &d (2) dwei —
(3) gfem ud (4) g e

36. T &1 IRV T BT &
A (2) 3 qeA

(3) qH=

(4) H3Ar3=

37. ‘SRS geHe ® HH-|1 o @ ?
|y sEEES (2) QreHTE
(3) ufmmEHE  (4) TUIETEH

38. ‘gmw wifadm A ?

—(1) =™
(3) TH™E

(2) aEfE=
(4) GmTfES

39. ‘G W A@I FIFTR ?

(1) =
(3) Hr

(2?) @~
(4) &=

40. ‘oirg i forefert B Wt oref
(2) gd &
(3) I BT
(4) grEr

41- ity Hadtany?

33. wWes=dw-dHiglaR? 42. Pefafe § —
(1) “W (2) E’iT:F{ -~ (1) aﬁ_aﬁ WW%
Paper - 1/C .
- - ‘
2 3 sag/\ -
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E% 5o Freffad qrE § A HA AR 7
43, ‘v @fw el (1) aw%wwmj@é
0 = 2) T (2) 1 STEATIeH < HEE BT ¢ g
3 T (4) X ) QW%@%%W@%l o
" © T (4) o TER § 3 TETIeh 30 ST € |
44. ‘aﬁa’wﬁgﬁﬁwﬁ ' fet
me M N 53. ‘e d & His AR A8 [ T W=
@) s ) (1) S (2) SR
45. Coear 71 9 3 . (3) emfer (4) ST
fAarerd J .
g; gaiqﬁ;ga 54. ‘W@mqﬁw’-mﬁam.% _
o) TR (1) ar=a (2) ¥ | IS T
(@) it 3 32 71 T A (3) W= (4) HHar=g
a6, Fifufaa i difes sfieaff 71§08 55. ‘Frepue’ wee =t wir-fo=aae 3
(1) et (2) SR (1) Fewe_f2) e
() F@@ . (4) o (3) 1+ e (4) Y+ e
47. &= vy iferat @ | 56. 393w A = sy o1y foren we sie #
g) 5 (2) 22 et ST 2
W 25 @S (1) Imefemn 2] wriv -
48. ‘miive Wk ¥ W e 3 yewy ' (3) wrfeREH (4) sféor smfEm

AN FTEIE(2) L ,
(3) +miiw (4 m:é: 57. WU forq s\ I @ @ 7

) HaHt (2) =TS
ﬁ\/g) "‘?9),3%?&

49. ‘T’ Ul % HRE w3 (B)
(1) e St , )
(2) faew 58. ‘aRi &1 ohan & FEa’ siar fpadh freht 2 ?
(3) ETFEM IS - (1) ghen Fort =em
(4) fowany wame R (2) T faR feqe
50. ‘awe T o gy . (3) WRETTS wgerat
TR P R 7 0 R e _ (4) QT A New
1) fremfy
:3; TR ey (2) sty 59. ‘&= ¥ w-ur figwu 7
S5 1) T (2) s
51. s’ 1 vt 3 ) WREUISeE (4) dEEmET
ey
/g; Sa;mm (2) sr9fry 60. ‘N ¥z i w2
(4) g (1) HHaRT gHY
Paper~1/C (8) ey e
8
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61.

62.

9Tt - III/PART - III

wrar = I ¢

what kind of adjectives are used in the

following sentence ?

A live ass is better than
(1) Descriptive

(2) Quality

(3) Indefinite

4 Quantity

a dead lion.

Which of the following has been
misspelt ?

(1) deciduous
(3) governence

(2) entrance
(4) ambiguous

pick out the correct synonym of the

63.
word :
attenuate
(1) repent (2) make thin
(3) divide (4) force
64. Pick the sentence with the correct
conjunction :
(1) No sooner had we reached the
station but the train left.
(2) No sooner had we reached the
station and the train left.
(3) No sooner had we reached the
station when the train left.
(4) No sooner had we reached the
station than the train left.
65. P.ick out the suitable antonym of the
given word :
judicious
(1) imprudent
(2) careful
(3) silly
(4) sagacious
66. "{‘hc meaning of the idiom
to put out” is
5) To betiguish (3 To gate
(4) To wait
Paper - 1/C

67.

68l

69.

70.

71,

3nst / Language — II : ENGLISH

The sentence : “ This is the house in
which I was born”, is

(1) A simple sentence

(2) A compound — complex sentence
(3) A complex sentence

(4) A compound sentence

rill in the blank :
(The objection was met out

the lawyer’.
(1) with (2) from
(3) by (4) to

Fill in the blank :
« of playing, the children

went home”.
(1) Being tired (2) While tiring
(3) Having tired (4) On tiring

Join the following sentence to make a

simple sentence :

The coffee isn’t too strong. It won’t keep

awake.

(1) The coffee isn’t too strong to keep
us awake.

(2) The coffee isn’t too strong so as to
keep us awake.

(3) The coffee isn’t too strong so it won'’t
keep us awake.

(4) The coffee isn’t too strong and will
not keep us awake.

Complete the following sentence with
correct Conjunction :

- he had not paid his bi
his electricity was cut off.pal is bill,

(1) But
(2) As
(3) Unless
(4) Either

[ P.T.O,
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_ : peech in | 77. Which of the following words is a,
¢ figure © Adverb ?
or e ; Fu
72. Choose the € once 08, (1) Apace (2) Fury
the following > y adon kKl (3) Meek (4) Face
his 1€ imile
Deagla ltZYPSh e 511;15 " fcation
E ;; A;ostrophe (4) Pe 78. Fill in the blank with suitable Pronoun :
equence t0 complete My son and my daughter are very fonc
73. Choose the proper ¢4 of . "
ing . 1T
e P (1) herself "
The guide said tha _ 2) hi
P. nowhere in the world (2) himself )y S
Q. a fairer building (3) themselves e
R. you will find 1 (4) each other o
S. than the Taj Mahal. ¢
hould be : _ _ %y
The proper sequence Sho &7 79. Which of the following is an example of nag
(1) RQPS (@) RQ ; Metaphor ? ‘ 1im
(3) PSQR #) PRQ (1) He is a big donkey. he s
74. Give the meaning of the followin (2) My heart leaps up when I behold a 5ou'r.
' proyerd: . oW rainbow in the sky. a tri
A bird in hand is worth two i 4 (3) Th.e bitter-sweet memories of”b;"
bush. childhood are a source of great 81
(1) To catch two birds with vou pleasure. such
h your : L ad
ands. ‘ (4) The face of the child is as soft as 82SP
(2) To trap birds in bugheg, the petals of a rose. up t
(3) Itisbetterto be satisfi d with how
you have than to try tz g:]':thl.:” hgt frust
not yours. Whatis | g9, Choose the correct option : hem
(4) To be dissatisfiag » b
have ed with what you Study of population is known as box. :
(1) Ecology (2) Genealogy }slc;orL
75. Choose the COrTect gny: (3) Demography (4) Astronomy p .
the sentence - OPtion tq co The 1
I C}: ’ Mplete this,
im gj
aéo_\ Since we met 4 Vear 81. Transform the following into a Direct loudt,
(1) didn’t see ) sentence : The c
(3) hadn’t seep, a5 otsaw Tasked Sheela if I might know her shou
76. wh aven’t een father’. . them
" of Ao atlre the Carliest o, (1) Isaid to Sheela, “May I know your ~scene
) R;z_tlca ? OWn inhabitan : father ?” and t
(2) Itis hae SCientigeg = (2) T questioned Sheela, “Will I know excite
3) Dindsaz lway, been your father ?” how v
(4) Indian so; 2 degery (3) Iasked Sheela, “ Can I know youf  declar
) clentists father 7 of the
Paper - 1/cC (4) I told Sheela, “May 1 know your
father ?” Paper

10
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82. The jdiom ¢To ring one’s own bell’
means
(1) to think properly

o) toindulee self praise

(3) to commit & theft
(4) to be one’s publicity agent

the passage below and answer

Rea
the questio that follow (- . 8? to. 90)
ting the most appropnate option

M. G. Vidyalay® had 2
captivated

anship of
watched

urs. All that broke
nt or the

wonderful meY este

f astonishme
plause, appreciating
flowers,

the silence was agaspo
sound of spontan€ous ap

a trick. Out of his magic wand came
ds of every possible colour

ding length. It came in
such quick succession that everyone was left
gasping. One of two young children cameé
up to examine the thin stick wondering
how it could hold so much. They were really
frustrated. As if that was not magical enough
he made a rabbit pop out of an empty wooden
box. It went hopping around the stage. It was
;00!1 put back into the box and seconds later,
T; flllilled out a rat, soft, white and squeaking.
e ttllﬁ ones seemed a little frightened by
loucilw lle' the others clapped and cheered
y. This was the grand finale.

::suii;lc‘iren did not want it to end. They
e & bc.ncore’, ionce more’, But Kim gave
e Thnght. smile and vanished from the
. t'h . e Chlldljcn were left searching here
scingt re for h1.m. Then they walked out
hou w°y (riecoun.tmg what they had seen and
decly (;1 erful it was. One of the boys Ravi

ed loudly, it was the best magic show

and seemingly unen

of the century.

paper-. 1/C
11

83.

84.

85.

86.

87.

88.

89,

90.

What does ‘en

core’
(1) Never (’;’)ea;‘ ?
(3) Once more (4) T:}\’N

What did Kim do in the end ?
(1) Performed the act once again

(2) Sat down
(3) Never performed the trick

(4) Smiled and disappeared

What does ‘Century’ denote ?
(1) A period of one year
(2) A period of hundred years

(3 A period of fifty years
(4) A period of ten years

What is the magician’s
(1) M. G. Vidyalaya
(2) Kiran Rathod

(8) Kim Rathod

(4) Ravi

name ?

What is the meaning of ‘captivated’ ?

(1) Astonished
(2) Angered
(3) Arrested
(4) Honoured

What is the meaning of ‘spontaneous’ ?
(1) Happening suddenly

(2) Continuous

(3) Never

(4) Always

What is a ',Wand’ .
(1) Stick
(3) Hat

(2) Box
(4) Cloth

What is the :
(1) Runnin gmeanlng of ‘hopping’ ?
(3) Standing
() Jumping

[ P.T.O.
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61. ZT)EE} ) qt< __d‘)/" ;
(3 WE® 7 69. ‘uaTH ¥ e
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62. nﬂgf;g (2) fﬁﬁw 5y T (2) T3 uTg forg I SAAGET Thefey
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AT (4) g g e, ST SR T
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I T 70. ‘& TRt R
) AT AD FIAE () T3fay
A e @) weRad @) FTohad
(4) Wﬁ‘ﬁﬁ‘“m 71. ‘317 TR F I @
64. AT | —4) WAL
2 (1) TLEE (2) A3
(2) forert qen SrgATe (3) TAMAMBIT
@) T (TAIH) .~ (4) A33<
(4) 31 (37%3) 72, o AR v, At
65. ‘T3 TEd 370! Al S - SHH UEhd H TG (1) == by =%
mal |, @) v @
1) 3% G&Fd 1 |
(2) AT HEFd Tercl | 73. TR THIE IR
() el gl a4 (1) s (2) dam:
(4) AT W Bfererae | 3y T (4) s
66. "Rmy: Hieehma I’ serea 3 74, Frad 9w ‘SgRivfeedta’ T
(1) Q%ﬂ'@?r:‘m"r ’@TI?T%?
(2) feaant= e 1)
) w=zet s, o i
@) e sgeff (2) FEUIRUHTG
ST (3) SEIUE gy
o, = 2 _(4) T
(1) " i ;
I : 75. T A I GYH A € ¢
"o mqﬁ 1) @ ()
w7
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(1) m!a7m W= . (/ ) ) ‘ ""..
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(3) eHiferard (4) s (3) ot wre: ufed: |
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Er@amug%mqtmé.szémam%s@ '.88. Wﬂﬁﬁ'«lm%?
& el I AT | ‘ | g (1) e . (2 T
STifRad Teiei ufdean Y3AH 9 | (3) 3w wHE  (4) 5’1‘"“:/
B Fal we, Td e - MR | go. 32 wen ¥ Rmwep TR s
m:mm’lmgéﬁs@amml" (1) mﬁm (@ 2.
1 | rdelt oreed- m weg: A R g o (3) g, 5. T
firdvee ar=ms: 2t e wean et argza | e Wmé’"
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(1) gfea: (2) dTh:
SR (4) 9=
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) 59 (2) 905
(3) 590 (4) 95
80. A Y- %
(1) W,%,t@q\ g
(2) T, ¥7, Fss: w
(8) =, srep, ik
(4) m’mym—/
81. H-ae i gy ‘ :
FETIE ? R [EEGLE S
o @) i
(4) s
T Tera .
TR "Tﬂmqﬁs@
Tl
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“H:Hﬁqﬂqﬁi”gﬁmm&éﬁl “?I-_cn'q‘g’:w
mﬁ,gmgf:”gﬁ{a:{aaqa&tﬁ: | T g -t

ey gaui Fwerd ¥4y | S
g2, Ragee =N #w: 7 2L
(1) == (2) 9
(3) T (4) TR~
83. TH@US hHAT I¥H: = ?
(1) et (2) g
_(3) @& (4) e
84, AN HelTY: A AT g 7
(1) &= (2) Thi:
_(8) SRl = (4) wrefen:
85. T ¥ W YATER TH 2 y T
(1) A -
. ohS @ w1
86. STEl’ i Teepw T W 2
A Tty A
{/(3) AT (2) TwEEf:
g ; (4) Fashify.
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=) ﬁ?qﬁﬁqé:mgmw ST 2
(3) ﬁﬁ?ma gfag. |
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Ay =
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1992@%%{@?—811%?3‘?11?

() 6.3 %R, 5.9 3, 4.6 i

(3) 6.5, 105 fndt, 39 fif

4 3.5%d, 9.0, 5.3 A
Paper-1/c

(1) TfER==<" a\
) A
(2) T /
(3) TR (3MEw) g .
(4) dmEm \d\\j’h"y
C"\
. ' -3 ) -3
- 93, 1V (1 1
8 aaﬁﬁr{H(s) (:J }‘(z) }
300 | IR A |
. 64 = 5 k( 5
- 1 N :
@ = | W%
3 2 K‘h}' S
64
5
e e 24 17\%“
94, @Eﬁ‘jﬁﬁmaﬁ%mgw
) 630, 320, 3 3 YT &

=

93.

'

o

94,

18

(2)

Ve

-
i &3
B Ll IV/PART - 1V
" aford / MATHEMATICS
) - atbtCqamam | o1, r2-P_¢ a+b+
91. .Hﬁ%:%:%ﬁ,?ﬁ p ::S 4 7,thenvalueOf r
- 1) 2 \’\"(r,\" (1) 2
: 2l 2z E/’,/ 2) 1
L/(;)?;E/ “ .\ﬂ T 3 4
2 . o ‘() 2
@ 7 Y (4) 7
_92-; Rk 5 sa 1991 1 MRER o1, & 3 W, 92. January 5, 1991 was a Saturday,

what day of the week was on
March 3, 1992 ?

(1) Saturday
(2) Tuesday
(3) Sunday
(4) Monday

Simplify H( %

(1)

ROBEON

(4)

To construct a triangle, the
sides are

(1) 6cm, 3 cm, 3cm

(2) 6.3 cm, 5.9 cm, 4.6 cm
(8) 6.5cm, 105 mm, 39 mp,
(4) 3.5cm, 9.2 cm, 5.3 ¢

possibl'e

n tG'\

o
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At ?,\k .
e T O
e\ g =
o5. J3,Y4, Y5 = TR Fw H Al
fAdw|

3 4
(1) J§ ¥4, Y5 5% 6
(2) ¥ A IS T

4) 34,43,

o6, af ST F @ ottt % A o A
Seror Eea T §, At S wgfy AW AP
SEIECR RN
(1) Hrea AR AR
(2) EEH AR HEAS

g;ww\sfnagaa
H7ea, WA W TGAD

(4)

97. 5 cmanimé@m%wﬁcsaﬁmt’nm
s a1 o3 aTe Sl e S 8
a1 o TS Fora T # et T B et 1

arem ?
(1) 142 A/ /’X(/\
(2) 54 —

P,

(3) 42
(4) 27 /\

98, W%m:ﬁvﬁwﬁnmaﬁﬁm
(1) 450°
(2)_540°
(3) 360°
(4) 180°
Paper-1/C 19

s\ —
—— = > *

§ Gt

“\BL 2 W —

95.

96.

97.

98.

e

Arrange V/3,%4, %5 in ascendin L
g \
At

order.
(1) 3,%4,¥5
(2) None of these

(3) 45,¥4,3
@) ¥4,43,%5

Which measures of central tendency
et affected if the extreme observations
h the ends of a data arranged in

on bot
der are removed ?

descending or
(1) Mean and Median
(2) Mode and Median
(3) Mean and Mode
(4) Mean, Median and Mode

e 5 cm is painted on all its
faces. If it is sliced into 1 cm? cubes,-
how many cubes of 1 cm?® will have
exactly one of their faces painted ?

A cube of sid

(1) 142

(2) 54

(3) 42
(4) 27

Find th‘é sum of all the interior angles
of a pentagon.

(1) 450° °
(2) 540°
(3) 360° , ,
(4) 180°
[P.T.O.

N
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_— . 99
s it
- LA
99. Qﬁ‘?@“},my %?ﬁ;ﬁmmﬂfﬁ
1 e T
AN
apfi ot
g gt 1 T
g ¢
/@“ﬂ“ | .3
() 127 577\/}
3) 30 1
@ PRL O %f-
100. A =B FRdiFma 12 fAiaaE | B 3 | 100.
cw@mma 15 TiwaE )| C ol A I
- FEF 20 AT E | A ol s Fm Y
[EREREREnRiC b
(1) 10f=
(2) 401“3:{ G 5 7\rz,
(3) 30fw _/ & 2T\
(4) 207 0
| LB v
101, 1% 42 21
3375523 T O Wy
101.
Jsao a 31170
© 330 4) 17
1
102 (7+24T5) ww?ﬂﬁn%\ O\SQ S q‘
W (d5 s
W 6+ {‘7 R LW |102.
0 (2” B
1(3) (\/5+J‘ \ Y\}(
%)) \u o VT8,
4) (\/§+2) o\c\\,o ."‘
Paper§1/c \ %’:L I“( (}R ‘W
he e ../ <

4 of apoleis 1
7

it is pulled out,
the pole still remains in
is the total length of the pole ?

an 8 meter long pie;
the mud.

(1) 21 metre

(2)
(3) 30 metre

12 metre

(4) 25 metre

A and B can do a piece of work!
12 days, B and C in 15 days, C #jp4
A in 20 days. How long would A td
separately to do the same work ?

(1) 10 days \
(2) 40 days g
(3) 30 days
(4) 20 days
105
H.C.F. of gt ® 21,
L.r.o 33,55,22 1S

330

L 7 @ —
330

3) 330 4) 17 106-

. 330

Square root of (7 + 2@) is
(1) («/5 5 1)

107.
¢
(2) (2+J‘) “y,,v
=
) (vV2+5)
4) (V3 +
4 (V3+2) e
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103. @aﬁaﬁt@m@ﬁgmmmwmmﬁra 103. o e comifion
¥ 13 Bogs HLTE Y= / cm @l ¥, MW have a side find the perlmeterofthe
u@ﬁmmwm . 184/0'“1°"g d

) ﬁpurc obtmncd L 2)
(1) e=cm g \k,j Me
1
(2) s=cm 2) slcm
(3 16 cm \ (3) 16 cm Q_.,f y )
o (g/ ° 1\ (% 5
' - L
J3 (b 4) 16 Y3 1lem )& ‘g
(4) 16 3+1 cm _ (4) ] T+1
9 4 L < 3|c‘>
104. F=Ed 33 Se-dt o 99 A fonfem | 104 Which of the following numbers is <o
aad7? _ divisible by 99 ? ——
S5 (1) 114345
7114345 1y Q
- 1 (2) 3572406 ™) A2
(2) 3572406 20
(3) 913462 % (3) 913462 = aﬁ—'f - \7’7[
(4) 135792 \ (4) 135792
M “\

105. =¥ 7? 105. Whatisn?
(1) oiea e ‘-/ (1) Rational number |
(2) = &R (2) Integer q (}

(3) T Tl \6 \\)( i (3) Prime number 6
(4) FafEa Fe N A& (4) Irrational number
. /
106. @ 10% = 125 7, @1 1072 %1 °H &M 106. If 10% = 125, then value of 102* is
1 s .. = 1
I = 2] —
M < 2 = 1 2 2) (
1 1
) == 3) ——
@ -5z @ ® -5 @) 25 g
107. 150753?%@#@!&%%“% 107. 16075 is divided by a number to give
167 a41 TTFA 43 TTS B B, T TSI Bl quotxent 167 and remainder 43, then
(1) 76 ) 86 divisor is
r L (1) 76 (2) 86
8) 95— @ 56 (3) 96 4) 56
Paper - 1/C
2\ 21
e I A T YA TN ey IPISS
\ b = 3 ' '()/k j <’
PRY
kf{\ ’ N s \‘>
\

ALY

M/ WY
&) S

x/ﬂ(

5§71

teral tr
A square and roqu]l?s;ieo @ag%f//t_

Scanned with CamScanner




¢ positive P =

per
8. The num
o ot &
108 50 49K (1) 14 (4) 15
25
i (2) (3) 16
" g)) 16 @ 19 is th
sis
S e 109. Twice the larger O.f t“e’g ?;;n sbril:aller arrf;
& et 33 wgh g LT - 'more than five tlglmes the larger ang
109. . I ¥ 3 ¥ o1 91 GE F TR he sum of four t . What
%‘Tﬁ”ﬁas.m ¥ . Eh'r['?].% |a Ehe times the SmalleI'lS 71- a arg
H‘*’aﬁ?@gi@%mﬁm the numbers ?
qEC TS 2) 17,1
af 43, 8. 2) 17,1 (1) 43,8 W 11,9
@) 14,5 () 11,9 @) 14,5
'H
‘J\ .
110. T 1 1 Seet Rl T 9 8 cm ¥, 3 | 110. A square with a side of 8 cm and a
Td ¥ S & TR & Forgehl T8 16 cm rectangle with l.ength 16 cm have
3 | sy e TR | : same area. What is the breadth of the
‘ rectangle ? ]
vTl) 4cm (2) 12 cm (1) 4cm (2) 12 cm
(3) 6cm (4) 8 cm (3) 6cm (4) 8 cm
R Hﬁﬁﬁaﬁmwwmﬁm@w = 111, If cost price of an article is 3 of its
®, e ey o @ 2 . . 5
? selhngtp_nce, then profit or loss
(1) 3329, @M, percent is _
3, ':/%p ﬂg (1) 33%% profit
@ 33l \ ‘
3384,?“11‘1 P (2) 331¢; profit
(3) aal, 8"
) 339wl | :
8 (3) 33§%loss
4) a3lo,
( 33/?@ 4 3 lo
. 3 3 % loss
112, 121012 #1123y
o éﬁwﬂww% 112. When 121015 ;
( \é) remainder j5 . ivided by 12, the
= (1) o
0/@' \ Y W
3 3 R @) 4
| ‘o 3
4) 2 SA 8 3
: \')/\Q\L/ 4) 2
aper — 1/C /4@ AN \ 2 |
Y
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T

ol A FE 8

(2) 25 %

(@) 15

108. 50@9"“:'@%3ff1

(1) 14
- (3) 16

it G 9 U
B sodgemEmRA A1
FEd e !

vf 43, 8.

(3) 14,5

109.

(@ 17,1
(4) 11, 9

A\ R

T o %1 89we fEH T 4o 8 cm B, 39
HTA & Y6 & TR & foEeh! @8 16 cm

HEREIE SR

1) 4cm (2) 12 cm
(3) 6cm (4) 8 cm

110.

1L, 3t frelt g 71 37 e 9w g gy S
R

(1) 33Lopamyr,

AN
5>

@) 3310, wmy
8

®) 33lo,zfy
8

(4) 33%%3@

112. lZlOlZﬁlZ%mﬁw W%
o T

108.

109.

110.

111.

112,

/ ' p o
prime intege, X

oSitiVe
The number o P y
< 50 is (2) 25
(1) 14 (4) 15
(3) 16
bers is thre

. er of two nuin g
"FVVICC tll;le:la";gve times the Smaller and o
‘more Lfmaof four times the larger an
:lrnlje: times the smaller is 71. What ar
the numbers ?
(1) 43,8 (2) 17,1
(3) 14,5 4 11,9
A square with a side of 8 cm and j 11
rectangle with length 16 cm have
same area. What is the breadth of the
rectangle ?
(1) 4cm (2) 12 cm
(3) 6cm (4) 8 cm

11€

If cost price of an article is S of its

selling price, then profit or lgss
percent is

(1) 33%% proﬁf |

() 33-;-% profit

(3) 33%% loss

(4) 33%% loss

Whén 121
012 s i
Temainder jg 2 1S divideq by 12, the

(1) o
(2) 4
3) 3.
4) 2
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(1) A<G:=2H
(2) A2H2G

B)AEGZH(//

(4) A<G<H
118.
S U1 36 &, Tt ITH YohAl H A=K 2

@ S
36

(@)

(3)

wg olu w|

119. 1ol w3 ey

120.

(1) 200 m2
(2) 75 m?
(3) 100 m?
(4) 150 m?

Paper-1/c

h

I R Tl 1 IR A G S

G

o
(go"‘\'@ 9,&

117. If Arithmetic m

118.

119,

120.

A

Cof preT L

ean of a given day,

= d Harmey,

is A, Geometric meati Sy Onjy
)

" mean = H, then

(1) A<GzH
(2) A2H>G

(3) A2G2H

(4) A<G<H

The difference and the product of twg
numbers are 5 and 36 respectively. Thep
the disfference of their reciprocals is

(1)

36

(2)

(3)

gl&: ol »i|©

(4)

Who was the
mathemaﬁcalsgglgilslgiﬁtzlggian

(1) Aryabhattg s
(2) Harigh Chandrqg

(3) Srinivas Ramany;

(4) Shridharachalyajan

(2) 75 ma
(3) 100 m?2
(4) 150 m?2

NI AN NN 30
o =
AL A ~j§?
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Eﬁ o - V/PART - v AL STUDIES 5in
ENT , un
qatawita sisa | ENVIRONM ¢ BiodiverSIty f
Mos
SIGIRS 121. 15 Valley
ﬁﬁiﬁaﬁﬁﬁwm (1) Flowers
121 ) ‘{(ﬁaﬁmﬁﬁ ) Dorang valley
:2 a1 & 53) Silent valley
) TR valley
B : 4) Surma
- (
A for LPG ?
. 23 i t trué 5
=aA Tl T WA ? 122. What is no
122. % K fuel
(1) &= (1) Aclean i
o &R T W ara (2) Methane emitting
3) 3 ST & e aTet (3) Burn with blue flame
(4) IV ISR A (4) High calorific value
123, VRS 0 & U § 123. The components of the ecosystem are
(1) sy (1) Plants and animals
0) S, S S HF (2) Producers, consumers and
(3) INEE T TS decomposers
(4) STow 7w srafys yerd S; gTOd.ucer S and consumers
1otic and abiotic substance
124. TR} 124. Tropj
(1) 23 1° Tropic of Capricom e
S = =E (1) 231 |
—— 1° 2 (2) 23°s
v - s et o
28 @ 235 N (3) 2318 L.
125, “gape s ] 4) 235w
t TR vz e wdgw e e 2 | 125, Who :
(1) = =, A foun 9 Coineq the te <
2) .z (1) pr g 5 'm “ecosystem” ?
() &, zeq (2) D, Witt;k Ishrg
(4) . U, TfL m (3) DI‘, Odum 8T
126, forp i 4 D, A g
PR B el it ' 1anslq
Wy $ 1 AT 101 w1t - oy 126. The Probley, y
O Arsenig ;
M) “tuv g (1) e ls un:ater Pollution with
2) ufiy o Uttar Pr“des m i
(3) fagm i (2) West Bengq
(4) g (3) Bihar
Paper 4 M
-1 adh
/C " ya Pradesh

LA \\/gj?a:
¥
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e e Sy W R TR
(1) 1960%.1

2) 197537 ¢

(3) 1972%.%

(4) 1962%. %

128.

129, ST 1 S d o v 8 e

(1) T

() s=w

(3) = fBrig

(4) S _

130, ﬁm%ﬂ%%%%ﬁmmw%?
@) ZLwmu .

(4) 2% foy

131, T 4 3
W?ﬁl@'&fmmg‘m%
(1) e
(2) mramawa:ﬁ
(3) framy
(4) I?Tman‘} <

Paper - 1/¢

@m’i@mﬁmm

is drier becauseé of o
(1) low temperature effec

(2) pressure effect
(3) rain shadow effect
(4) high altitude effect

128. The Wildlife Protection Act was

passed in _

(1) 1960 A.D;
(2) 1975 A.D.
(3) 1972 A.D.
(4) 1962 A.D.

(1) Insolation

(2) Heat budget
(8) Solar constant
(4) Solar energy

130. Fundamental du

which country’s dopteq from

Constitutioy, 5

.

(1) Germany
(2) USSR
(3) Usa
(4) United Kingdom

131. Inafood ché:in o

fgr asslang
the top consum

ers are
(1) Herbivorous

Cosystem,

(2) Either carnivoroug and
Herbivorous

(3) Bacteria

(4) Carnivorous

26
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132, JgHS 1 VW WR S ged) & ged o
(1) FHATIHSH S
(2) TEIISH
(3) HEAWSw }

(4) shwiew

133. VI 56 g0 Safafavar siffam wita
IERIRIPIN]
(1) 117, 1972
(2) 11 f&g=x, 2002 .~

(3) 16 ¥, 1990
(4) 10 few=t, 1980

134. Frefafaa § @ S-d HY & St wlwar
TafeRer §REr § HEHeE © ¢
(1) FfETaEd —
(2) Sfe=w@dl
(3) e ISt arelt fore st it Ay
(4) ToTE TS H W8 TR

135. =g 991 Gaied @
(1) TTEeElEs gae ¥
(2) =i A

s~

(3) Ufafes =¥

pu- A e

136. T4 Tq U & WA 8
(1) a2 arig e
(2) a2 AT HS
(3) I°E AMgeEATEF e —
(4) acE AN e

137. 5l o ot pafeerm &
(1) Se-ergi
(2) swm@ved —
(3) Tafemm 4
(4) Temierer e &

Paper - IIC

27

132.

133.

134.

135.

136.

137.

The main atmospheric layer near the
surface of earth is

(1) Stratosphere

(2) lonosphere

(3) Mesosphere

(4) Troposphere

The Biodiversity Act was passed by the
Indian Parliament

(1) 11* May, 1972

(2) 11 December, 2002
(3) 16t October, 1990
(4) 10" December, 1980

Which one of the following agriculture
practices is eco-friendly ?

(1) Shifting cultivation

(2) Organic farming

(3) Cultivation of high yielding
varieties

Growing plants in glass house

(4)

Acid rain is concerned with presence of
(1) Hydrochloric acid

(2) Boric acid
(3) Acetic acid
(4) Sulphuric acid

WWF stands for

(1) World Wide Fund
(2) World Watch Fund
(3) World Wildlife Fund
(4) World War Fund

The valley of flowers is located in
(1) \Jammu-Kashmir
(2) Uttarakhand

(3) Sikkim

(4) Himanchal Pradesh
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139.

140.

141.

142.

143.

b

(1) T
3) i@?‘/

gammm%
(1) ST

(2) SR H
(3) FWH

(4) TEAWH ~

(4) TgT

e & Srewe T grRe e T Al
(1) 1972%_- (2) 1985%.
(3) 1981% (4) 1973 %.

mn@hmm%ﬁamﬁf@m%?
(1) gfz=d A

a@:ﬂ?ﬂﬂ?ﬁm (1916) ﬁ?ﬂ;ﬁqm&m o1 ?

(1) Fiia a giem d7 % qe
(2) :{Iﬂ?’@famm%qw )/

(3) Fafem @ wrddl & W
(4) fgqagﬁaﬂ%ﬁuw

paper — 1/€
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139.

140.

141.

142.

143.

144.

(3) Central ;
(4) Central pollutt

situated in
(1) Sicily

(2) Rockies
(3) Andes

(4) Hawaii
Tsangpo river of Tibet in India is
known as
(1) Ganga
(3) Brahmapi

(2) Indus
tre. {4) -Yamups

The Pole star is
(1) North star
(2) West star
(3) East star
(4) South star

‘Project Tiger’ was started in India
(1) 1972 A.D. (2) 1985 A.D.
(3) 1981 A.D. (4) 1973 A.D.

Kanha National Park is located 1n which

Indian State ?
(1) West Bengal

(2) Gujarat
(3) Tamil Nadu
(4) Madhya Pradesh

The Luckno
between W Pact of 1916 was made

(1) The Con
ks gress and the Muslim
(2) The Modera
tes and i
(2) ihe Bfitish and the ?;{ctil;emISts
(4) The Hindu ang the Musﬁfn
S
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% il 7v7TOd HET 27
145. Tﬁaaﬁ; 145. Where is the Wild Ass San
(1) el (1) In Rajasthan ctuary ?
(2) ﬁ%’l’(ﬁ . (2) In Bihar
) AT 3) In Madhya Pradesh
(4) Tﬂlﬂa v (4) In Gujarat
46 W%@Tmﬁam% 146. Carbon dating refers to
6. AT () essurement o srnh S
2 gﬁéwﬁ (3) Use of carbon for writing on whi
((3)) Qﬁq@ﬂfﬁaﬁ%ﬁﬁmﬁhmm board BOLFRs e
g '{m’ﬁ 7 zﬂﬁﬁ'{%‘zﬁ al g:qlﬁzil & (4) Measurement of age of bones oOf
(4) e materials in ancient sites
g
= ? 147. The Constituent Assembly adopted
147 g S T T 1 ' National Anthem onl
" 20 1950 (1) 20 January 950
) et 1949 (2) 13 November 1949
j 1 < 3) 21 May 194
@ 2171949 ) 24 January 1950
4) o4 FAAL 195
148 ? 148. Blomagmﬁcation i ionofa
: (1 increasing concentrall
(1) i mﬁﬁﬁﬁwﬁiﬁaﬁ ( toxic substance in the tissues
gl over time
; ) all of these '
( gﬁ@mﬁ . %3; to increas® the siz€ of picture using
(3) Wm%%mﬂﬁqﬁi computer '
(@) ST R H 316 4) increasing Siz€ of organism
149, FefrEd 5 3 SaHed Al safmaeh | 149 which of the following is not a abiotiC
TEie ! component of piosphere ?
/u')/ﬁ"‘ @ HrEHRE (1) Protein (2) Phosphorus
(3) F* (4) T4 (3) Fungi (4) Soil
150. H7 @ ST 1 JeArd arafend 8 150, The headquarter of Green Peace
(1) =T A (2) e § International is located in
(3) tedad ) faehtd (1) New York (2) Nagas
il (3) Amsterdam (4) Sydney
29
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